The broad gauge distance is ......... mm

a) 1676 b) 1000 ¢) 1600 d) 1750

A AT B .. el

3) 1676 d) 1000 ¥) 1600 g) 1750

In railway Black smith post comes under ........... department.

a) Security b) Engineering ¢) Personal d) Medical

Yed A e R g v & arrfa amar 21

) g q) gonfafir W) Fififen 7) fafde

The height of 60 kg rail is .............

a) 172 mm b) 156 mm ¢) 143 mm d) 136 mm

60 fHeIm™ YT & FAE o g |

) 172 iy q) 156 et |) 143 it 3) 136 A
Actual wear of nose of crossing of 60 kg CMS xing is equal to..........

a) Measured wear -2.5 mm b) Measured wear -2 mm

¢) Measured wear -3 mm d) Measured Wear- 4 mm

60 fheim Hwew IR A 716 B aafie R . P TR &

¥) HG g —2.5 Al 9) 7191 o —2 A

) w3 ?) 99 g —4 e

Diameter of Drill bit for hole in gapless joints should be ...............

a) 26 mm b) 26.5 mm ¢) 27 mm d) 30 mm

uere el # BT @ forg el e &1 & HEIRClIY

3) 26 fas 9) 265 At W) 27 R T) 30 fAsi

In electrified/ track circuited area........... tape is used for measurement of rail

a) Steel tape b) cotton tape c) metal tape d) Aluminium tape
faggfied /3@ Hfde d &7 # ¥ A 7 B g ... U BT SYART T S 2
3) el <y 9) ¥ 2w W) €1 v 3) Tegdifiam 2w
Emergency joggled fish plate are provided at every ............... kms

a) 0.1 b) 1.0 c) 1.5 d) 2.0

TAG...... feirier W STaHIen SitTes e ©e Suaer ov1g ot & |

&) 0.1 , 9) 1.0 W) 15 T) 20

Slide chair bolt hole in stock rail of Turn out are ..............

a) Same as normal fish bolt hole hight b) 6 mm below fish bolt hole

¢) 6 mm above fish bolt hole d) 8 mm below fish bolt hole

e 1S B I Xl # WIGE I AIE BE § v

3) WY 5 diee Bl @ SUE @ WM 9) b aee 21 @ 6 Al A
9) fer giee 819 9 6 Al SR 7) e die B @ 8 frlt AR



9. Oiling & Greasing of SEJ Shall be done by Key man Once in ............

a) Fortnight b) Month ¢) Three month d) Week
9. THEW # Ay iR MR @ ar T e gRT B TN

SBICEIS q) HE @) 7 78 7) waE
10. Distance pieces in Platform lines shall be fixed at about ........ meter

a) 13 b) 15 c) 30 d)20
10. CHT A ¥ g/ B T A . fex g by Smr

) 13 q) 15 W) 30 q) 20

11. The height gauge shall be fixed at height of ........ meter above road level.

a) 4.67 b) 5.67 c) 4.76 d) 4.50

11. B8 T WD TR W o Hex A S R 97 frar SRAT |
) 467 q) 567 W) 4.76 T) 450

12. Minimum clearance of check rail for a Curve is ........... mm .
a) 44 ; b) 51 ¢) 75 d) 48

12. Mg & forg ¥ Yo7 B AT o .......... el 2
) 44 q) 51 W) 75 T) 48

13. Minimum clearance of check rail for Point & Crossing for PSC sleeper is .................. mm .
a) 44 b) 41 c) Sl d) 48

13, figadl wiR & forg @rge iR SR & forg 9% Yo o a9 Ferd ... B 2
) 44 q) 41 |) 51 T) 48

14. Minimum clearance of check rail for Level Xing ....... mm .
a) 41 b) 44 c) 48 d) 51

14. oael BIRT B fog F% Y o A FHRY ............. a2 |
3) 41 q) 44 q) 48 T) 51

15. The Check rail clearance opposite CMS crossing of BG (1673 mm gauge) is .............. mm .
a)41to 44 b) 44 to 48 c)51to57 d) 44 t0 50

15. droft (1673 Al 191) & Aigagw ST & FFH 95 YA FHRY ... el 21
) 419 44 q) 44 ¥ 48 |) 51 ¥ 57 T) 44 ¥ 50

16. The Minimum length of rail to be cut in case of buckling of rail occurs /appears is ........ mtr.
a) 6.5 b) 6.0 c) 4 d) 13

16, ¥ B gHT 8 AT B B B Rl § w1 S areht Yo A g g
AR 2 |

&) 65 ) 6.0 w) 4 7) 13
17. Initial Gap of SEJ for 60 kg & 52 kg rail at De-stressing Temperature is ..........coo... mm.
a) 40 b) 50 ¢) 60 d) 30

17. SR am9aE W 60 T @ik 52 fhuT ¥ @ T THES BT AR SR il 2
3) 40 _ ) 50 W) 60 ]) 30



18. No of lifting points required for handling 26 meter long panel are ............

a) 2 b) 4 )6 d)8
18. 26 Mex TR V9 B G B forg snavas I At sl @ H@gr .. B
) 2 q) 4 ) 6 @) 8
19. For making gapless joints of CMS crossing distance of first hole from rail end is ........... mm
a) 80 b) 83 c) 85 d) 50
19. WITHTH & ey e a9 & fog Yo RR @ uga 8T 9 SR g8 ... el 2
3) 80 q) 83 ) 85 ) 50
20. IMR rails should replaced within ............... days
a) 1 b) 2 )3 d) 4
20. IMETHRIR YA B .......... At @ R e ST @Ry |
) 1 q) 2 ¥) 3 T) 4
21. Greasing of rail in a curve shall be done at ..............
a) Gauge face of outer rail b) Gauge face of inner rail
c) Top table of outer rail d) Top table of Inner rail.
21. fof M F Yo A DRI W B S |
) 918 XA BT A B 9) IAARS I BT I B
W) aEd X B i arferer ) afiaRe® Yo B g arferar
22. Defective weld (DFW) shall be mark with ......
a) 1 red cross b) 2 red cross ¢) 3 red cross d) 4 red cross
22. SNYT deS (SNBSS B v & @ fafga faar s |
3) 1 XS B 9) 2 XS BN W) 3 ¥S B9 ?) 4 NS BN
23. In Concrete sleeper .......... No of pandrol clips are required.
a)l b)2 c)3 d)4
23. P WIR H ... & Ui fde &) amavgsar it 2 |
3) 1 9) 2 W) 3 ]) 4
24. In Concrete sleeper .......... number of Liner are required.
a)l b) 2 c)3 d)4
24, BB IR H ..o T AR DI ATaeIHam B 8 |
3) 1 q) 2 ¥) 3 T) 4
25. In Concrete sleeper .......... number of Rubber Pad are required.
2)1 b) 2 )3 d)4
25. BBIC TN H ..o & Ve IS P Aravaear Bl R |
3) 1 9) 2 ¥ 3 7) 4
26. Normally in LWR section, distance between two sleepers is ..., cm
a) 60 b) 80 ¢) 100 d) 50

26, A AR W YASQAR A # 31 whuwl & 4 @ Q[ ... GLIRACIE S
3) 60 q) 80 ¥) 100 T) 50



27. Liner used in track circuited area are.........
a) composite liner b) GFN Liner ¢) Metal Liner d) None of these

27. 3@ Wfdbe &3 ¥ IuA Y I arel AR E
) e AR 9) NUBYA R W) AT g g) 37 4 B1E T}

28. Minimum throw of switch is ............. mm in BG track is
a) 115 b) 70 ¢) 95 d) 57
28. A0 2% ¥ Rag &1 gaq o ... ey 2
) 115 . q) 70 ) 95 ) 57
29. Recommended throw of switch is ............. mm in BG
a) 115 b) 70 c) 95 d) 57
20 4N 2 ¥ R @ orgeifea o ... Pt & |
3) 115 q) 70 ¥) 95 T) 57
30. Heel Divergence for 1 in 12 turnout on PSC sleeper curved switch is....... mm
a) 180 b) 182.5 c) 175 d) 115
30. NITEY Wi o Rag R 12 ¥ | 1 Hamee @ fog & savy ......... et 2
37) 180 q) 1825 ¥) 175 T) 115
31. Minimum clearance of ............. mm below foot of stock rail & top of leading stretcher bar shall
be available.
a) 1.5 b) 2 ¢)3 d)2.5

N Ve s o RR IR ARTER IR MW ... e o <Faw e
Syael 8 |

3) 15 q9) 2 ¥) 3 T) 25
32. Maximum clearance of ............. mm below foot of stock rail & top of leading stretcher bar shall
be available.
a)l.5 b) 2 ¢)3 d) 2.5

32. WP ¥ @ e B 3R ST ®R IR & MY W ftpaq ... f wiRe
Y&l BT |

3) 1.5 9) 2 ¥) 3 T) 25
33. Spherical washer in switch portion shall used on ............. irrespective of LH / RH turnout
a) RH side b) LH side c) LH/RH side d) None of these.

33, Rgg 1T # MATPR ATIR FHT SYART TAQd /ARYT SHIMSE R &4 oy fRem . L rd

fear s |
3) ARYT WSS 9) TcYd WIS W) UoIUH /3RTE WIS ©) §H A DI A8

34. At level crossing Banner flag shall be provided at 5 meter distance from the ...........cccce...

a) edge of road metalling b) ends of check rail

¢) Centre line of road metalling d) Centre of check rail
34, AT BT T ... ¥ 5 Mex B g8 W AN FHeT _ T |

) wed Hefel &1 q) 9% ¥ B (R

W) wed Hefelm B b= ¥a@r T) A VA BN IR



35. Lifting of concrete sleeper track shall not be done more than ......... mm in one stage

a) 25 b) 40 ¢) 50 d) 75
35. PP TR B A TP TROT F it & arfr =€t Sorg o wHM 2 |
3) 25 q) 40 ¥) 50 g) 75

36. Oiling & Greasing of SEJ shall be done once in a .......cccevivnene

a) fortnight b) month c) week d) two months
36. THES @ fAfAT 3R MR . ¥ UH qR P T |
S)RCEIN q) WA W) g g) a1 7éW
37. Lubrication of fish plate joints shall be done preferably in month of ...............
a) October & November b) April & May
¢) June & July d) December & January
37. 59 e et &1 Ve sEa: ... A1 ¥ fHar S |
) IR R TR ) it 3R 7S
W) 97 iR Jerrg ?) fgmr 3k o=
38. Patrolman shall walk ..........
a) In direction of traffic b) facing direction of traffic
¢) Centre of both track d) None of these
38. Uglel A9 ..o Tl
1) grarara a1 fawr § ) I # e # IR gE@ WD
) SF SB BT B T) 39§ BIg A8
39. Length of fish bolt for 60 kg rail is ............ mm
a) 140 b) 150 c) 160 d) 170
39. 60 fopelt Y1 & forg T diee @ =T ... a2 |
31) 140 ' ) 150 ¥) 160 T) 170
40. Length of check rail bolt is ............... mm
a) 160 b) 180 c) 200 d) 210
40, AP o1 Ao Bl TARTS oo el 21
31) 160 q) 180 ¥) 200 T) 210
41. Diameter of bolt of stretcher bar is........... mm
a)l2 b) 14 c)18 d) 20
41, R IR P aIC P AN ... il 2
a) 12 q) 14 ) 18 ?) 20
42. On PSC sleeper 1 in 12 turnout, S & T motor is to be fixed between sleeper no. ..................
a)l &2 b)2&3 c)3&4 d)5&6
42. 1 39 12 2HamS8e A U8 & HIeX Bl ... AR TRR W G ST @

3) 1 3R 2 d) 23R 3 W) 3 3R 4 ?) 53R 6



43. The central sleeper spacing of conventional type of SEJ is ............ cm

a) 55 b) 60 ¢) 65 d) 70
43, INURS UPR & (gD B DNy wWhw g .. e
3) 55 " q) 60 ) 65 @) 70

44. Rail drilling machine starts with ...........

a) Water b) Petrol c) Diesel d) Kerosene oil
a4, X fRferm wefm . A ¥o Bl 2|

) T q) derel ) Srorat ?) facdt 71 a4t
45. Rail drilling machine drills the holes with ...........

a) Water b) Petrol ¢) Diesel d) Kerosene oil
45. N fyferm 7eh= ... & W 8 fgad dwdt 2

3) ur 3) g W) Sroret ) fed) @1 ad
46. Rail cutting machine starts with ...........

a) Water b) Petrol c) Diesel d) Kerosene oil
46. XA HCH B TN ... Jgs BB |

) urit 9) UgIA w) Siofel 7) fedt @1 aa
47. Rail cutting machine cuts with ...........

a) Water b) Petrol c) Diesel d) Kerosene oil
47. X FfeT 7 ... q dehl B |

3) T 9) Ugrad ¥) St 7) faed @1 da
48. Abrasive rail cutter start & cuts with ...........

a) Water b) Petrol ¢) Diesel d) Kerosene oil
48. YYD YA B URA 3R BT ... | BT 2

3) g 9) Ugrd w) St 3) fAcd &1 aa
49. Gauge and cross level measured with help of ............

a) steel scale b) Gauge cum level  c¢) Thermometer d) Steel tape
49. 51 3R BF WA B ... P TETIAT | AT O @ |

3) e Wl 9) IS HE W W) oI 2) W 2
50. In steel channel sleeper of bridges ............ no of hook bolts are required

a) | b)2 c)3 d) 4
50. Qoif & el HeT TR ¥ ...... § Aee BN AL §N & |

3) 1 9) 2 ) 3 T) 4
51. Joggled fish plate is provided at ..............

a) fish plate joints b) welding joints

¢) Glued joints d) CMS crossing joints
51, WTeS e @IC..ccrrrrirn TR SYTEl ) ol B |

3) fber e W8 q) AfeeT org

%) fvd ge e’ ) ¥ieeE ST e



52. In ATW Process rail ends are preheated to the extend of ..............

a) 1500+20C b) 1000 +20TC ¢) 800 +20C d) 600 +20C
52. UA Te wfar ¥ ¥ B RRY &Y ... N At g% vl @ A far rar 2
31) 1500+20°C 9) 1000 +20°C ¥) 800 +20°C 2) 600+20C

§3. Preheating time with LPG in ordinary AT Welding is........ minutes

a)4t04.5 ' b)2t0 2.5 c)5t06 d)7to8
53. ARV Y AfeeT F gardioh @ wrer M&feT &1 a9y .. fame 21
3) 49 45 q) 2925 W) 596 2798

54. Preheating Time with compressed air & petrol in ordinary ATW is........c.cc......

a) 2 t0 2.5 min. b) 4 to 4.5 min ¢) 5 min d) none of these.
54. R TSy ¥ WA &a1 ik UG & |y MafST &1 9 ... g |

) 2 W 25 e P4 V45 e W) 5 fFe ) 3T A P13 Tl
55. Rail end to be welded should not have any bolt/bond hole within ............ mm in case of AT

welding

a) 30 b) 40 c) 50 d) 60

55. TSI e & AW ¥ Joe fHy OTF a1t ¥l RR W ....... il & frax 3E e /df< B9
& BT ARy |

3) 30 ‘ q) 40 W) 50, T) 60
. e are used for doing alignment in ATW welding

a) fish bolt b) chisels ¢) wooden wedges d) MS Liner
- BT YA TSy dfeeTT # TaATHe &1 & oY fHar Sram 2 |

3) e diee §) B W) dHS B qoro T) TH U9 AR
57. Pressure during preheating by compressed Air & Petrol shall be ................

a) 2 to 2.5 kg/cm® b) 0.2 t0 0.3 kg/em®  ¢) 2 to 3 kg/em? d) 4 to 4.5 kg/cm®
57. GRfed arg 3R g g1 WA & SRM TAM ... BT |

) 2 ¥ 25 feur /& 9) 02 & 0.3 fHur /3

¥) 2 9 3 feur /& T) 4 ¥ 45 fHur /947
58. Pressure during preheating by oxygen is ..........

a) 7to 8 kg/em® b) 4 to 5 kg/em® c)4to4.5kg/em’  d)0.2to 0.3 kg/em?
58, 3ifadIoT ERT U8l § TR IRA D SR T ... BT B |

a) 7 9 8 fur /i’ ) 4 9 5 fbur /Y

W) 4 ¥ 45 faur/F T) 02 ¥ 0.3 farum /Ay

59. Finished vertical tolerances on 1 meter straight edge at the centre on surface of head shall be__
a) + 0.4 mm b) + 0.5 mm c)+0.2 d)+0.3
59. R & wag W d= # 1 Mex AW IR W 99a Seafer wereheran ... @ |

3) +0.4mm g) +0.5mm W) +0.2 g) +0.3



60. Finished verticals tolerances on Imeter straight edge at end of straight edge on surface of head
shall be ...............

a) 0 to +Imm b) 0 to 0.5mm ¢)+0.5 mm d)+ 1.0 mm
60. R & wag W WY R & afg A 1 Mrex WY FIR W IR AR Fereierr.. geft |
3) 0to +1mm d) 0to 0.5mm ¥) +0.5mm g) +1.0mm

61. Finished lateral tolerances on 1 meter straight edge at the centre of gauge side shall be ............

a) 0.3 mm b) 0.2 mm ¢) 0.5 mm d) + 0.5mm

61. I U&7 & Bvs ¥ 1 Mex W PR W IR ured FETMNemd ..o gt |
) 0.3 THTH ) 0.2 THYA ¥) 0.5 TATH T) +0.5 TAYH

62. Finished vertical tolerances on 10 cm straight edge at end of straight edge shall be .....cccceevenee
a) 0t0 0.2 mm b) 0 to 0.3 mm ¢) 0to 0.4 mm d) 0t0 0.5 mm

62. WY fHTR & 3fd & 10 W WY PR R GAC AR FETLA .o Bl |

) 0 9§ 0.2 TATH 0oV 03TIUA WOV 04 THTH  T) 0 ¥ 0.57ATA

63. Finished lateral tolerances on 10 cm straight edge at centre of straight edge shall be ..............

a) +0.3 mm b) + 0.4 mm ¢)+0.5 mm d)+ 1.0 mm
63. WY fFIR & B W 10 I Y fFR W TIR 9d FETMAT ..o grft |
3) + 0.3 THTH 9) + 0.4 THUH ¥) + 0.5 THUH <) + 1.0 TAYH

64. While executing the AT welding work if sudden rainfall occurs, what precaution has to take to

complete the work?
a) Joint should be protected by trolley umbrella b) Joint should be protected by tarpaulin
¢) Joint should be protected by rain guard d) welding should not be carried out
64. T AfeST Bl BRa GHT TS 3@ IuT & WY A B G FA B o aar Aaurh
gRa- BRf ?
37) e @Y giell BT W GRdW faar s =nfey
q) Siis &I foRuTel gRT WRfar fbar S =Ry
H) Sire @ ¥\ TS gRT W fbar S =Ry

) afesT =&l @1 S A1y |
65. Weld collar painting to be done once in ................. years in corrosion prone area.
a)4 b) 3 c)2 d)1
65. EIRYT Y907 &% ¥ dos ok UfeT ... 9] # U IR B S ARY |
) 4 q9) 3 q) 2 ) 1
66. The First train should passed only after .............. minutes after pouring of molten metal and after
rough finishing of welded joints.
a) 30 ' b) 15 c) 45 d) 20

66. frareh g8 o1g STeM @ 418 3R dess Siel o % AR & arF ....... e & s &
vgdll g4 el A1y |

3) 30 q) 15 W) 45 g) 20



67. New AT weld shall be tested with USFD within ..ovveveen... months

a) | ' b) 2 ¢)3 d)4
67. TV V& A8 HT wleor . W B Nar guagnd @ @rer far s

3) 1 q) 2 ¥) 3 @) 4
68. Reference mark of SEJ is ........... mm higher than top table of rail surface

a) 0 b) 5 c) 25 d) 50
68. THES &1 W g ¥t wag @ M dqet & . ey J=m 2|

3) 0 q) 5 ) 25 <) 50

69. Rail dolly is used for carrying ..............

a) Ballast b) Rail c¢) Water d) None of these
69. Yol Sl BT IUGNT...... o oM @ fog fbar rar @

) e ) ¥ |) T 3) T ¥ BIg
70. In one box of detonator contains ............ no of detonator

a) 8 b) 10 c) 12 d) 6
70. SR & TS Fa § SEMK B ... | Bl o |

3) 8 9) 10 ) 12 T) 6

71. For welding rail end should not be cut by ........

a) Hexa blade b) Gas c¢) Rail cut machine  d) Abrasive rail cutter
71. AfeST & forg XA & RR & oo gRT 78I HIST ST A1} |

3) Bl =i 9) 9 ¥) ¥ He 7hH T) "yor ¥ Hex
72. Box spanner used for tightening of ...............

a) Stud bolt b) rail screw c) fish bolt d) stretcher bar bolt
72. dfe VR BT YA ... P BT B forg fmar omar & |

3l) S e ) ¥ @, ¥) e Aiee 3) ¥ IR diee
73. In a turnout rail screw shall be tightened by .............

a) box spanner b) fish bolt spanner ~ ¢) hammer d) auger
73. THIMSE H YT T, B ... R &9 faar SR |

3)) dfe R ) fher Aee WR W) R T) a=|T
74. Versine in a curved tongue rail & curved stock rail is measured by .................

a) steel tape b) thermometer c) gauge cum level d) nylon cord
74. FAEER T XA 3R AR CH X § T B .o ERT |97 71T

%) W 2u q) emieR |) I g WK q) AT B

75. The gap to be maintained at SSD in Thik web switches between stock Rail and Tongue Rail is
a) 56 + 2 b) 58 + 2 ¢) 60+ 2 d) 64+ 2

75, WP Yol 3R €71 ¥ & 49 % 99 Rag § THTNE) W 910 @1 JM aTelT iR 2|
3) 5612 , d) 58+2 W) 60t 2 T) 64t 2



76. For measurement of Versine in a Turn out, Chord length is taken as ......... Mtrs.

a) 10 b) 20 ¢) 5 d) 3
76. T AT ¥ auiga A A B Py, B A A Hrex & wu # off o 81
) 10 q) 20 W) 5 @) 3

77. Chamfering of rail holes is done to avoid .........cevververenns

a) low joints b) high joints ¢) cracks d) None
77. X R B Wl A g B forg A S 2

3) Fea oe q) I e W) TR q) BIg T
78. In PSC track at rail joints ............. fish plates are to be used.

a) 1 metre b) 600 mm ¢) joggled d) glued
78. fivae 2% ¥ ¥ WSt W ... fber @i @1 SyAnT frar ST 2

) 1 #ex q) 600 THGH W) ST ]) gs
79. Rail tensor is used for .........cceverrerrerecrensernenn.

a) welding b) distressing ¢) Rail drilling d) Rail cutting
79. X1 SHR BT QUM ..o & forg fvar S 21

3) AfesT q) Rl W) o fgfer T) X BT

80. When Buckling took place in track or sunkinks developed in LWR track during summer then
arrange the following steps to be taken in a sequential order.
L. Cut the rail with gas
I1. Protect the track
I11. Inform Station Master & SSE/P.Way
IV.  Cool the rail with possible means.

ay I 1 I IV by I 11V
) I 1 I IV I IV I I
80. o1g TR @ SRM 2% F gHfeiT Bl & AT VASKRIR £ H €9 fawsRid gar & a
frfaRad Bed SoM B TG FawIT AN |
| T B A B
. $& &7 Grida
|11 ReT AR 3R vagas /0 b1 e wR
Iv. FIfad e | XA B ST I
1 1 U IV 9 I m 1 Iv
| I 1 10 IV ] I IV 1 11

81. While working with JCB for earth work or any other works on track, block required when it
works less than ................. meters from centre line of track.
a)2.8 b) 3.5 c) 6 d) 7.5

g1, fiedt @ @M a1 Al o Frd & forg ORI & T B IR W LF P < b S
2 A TE 2D P DR NG A HeX ¥ 9 W B BT 2 |
3) 2.8 q) 35 ¥ 6 3) 75



82. What will be the effect of tight guage at nose of crossings ...........
a) Wheel flange hits the nose of crossing b) More wear on check rails
¢) Shearing of bolts on check rail d) All of the above.

82. BT & AW W erde A1 &1 Far wara &N ...
) A wAT PR A A1 A TawE@r @ ) Wb ¥ R IfF foram

|) 9% W W Qe P FaxA 7) SR 9l |
83. For PQRS work for running of portal cranes the gauge of auxiliary track  J— mm.
a) 1673 b) 1676 c) 3400 d) 3500
83. NRPRTE 1 B g Vet B T & I WIS 26 BT A ... A 2
3) 1673 9) 1676 W) 3400 &) 3500
84. The spring setting device should be fixed on sleeper No............ in 1.12, 60 Kg Turnout.
a) 13 b) 14 c) 15 d) 16
83. 1.12, 60 b cforae ¥ Ry T Ragw B WIR TR ... W TR AT AT
) 13 q) 14 ) 15 T) 16

85. The purpose of going as key man by mate in once in week is ............

a) To know the condition of the section b) to see any encroachments
¢) to check the work done by key may d) All the above
85. WTE A U IR A ERT -39 & ©U ¥ A P IGaW © ..o
37) I B Refy o & forg 9) el @ aifewor & 3@ & forg

W) Fot gRT Y T 1 B Wi g I B forw 7) Wi Wl

86. While recording temperature at site during carrying maintenance works, if the temperature
shows in Red colored zone on the rail thermometer , then what is the action to be taken?
a) Carry regular maintenance works b) Stop doing regular maintenance works
c) introduce Hot Weather Patrolling d) bothb & ¢

86. XA HT B SR FiEe W A RPpie FRad §99, A Yol AR R A9 dredl 3T
® &7 § fewrd a1 8, A |1 FRATE HI S AMRY ?
3) fFrafia @ x@E S AT 9) fFafia @ @T 1 A1 99 B

) T A § T g BT T) 9 3R | qM1

87. While recording temperature at site during carrying maintenance works, if the temperature
shows in Yellow colored zone on the rail thermometer , then what is the action to be taken?
a) Carry regular maintenance works
b) Stop doing regular maintenance works & Close the empty gallas
¢) introduce Hot Weather Patrolling

d) None of the above
87. TWER@WG FIA & SR Age W A9aH Rafé o w9y, IR X amiiier R agaE dra <

@ &7 # fearg a1 &, @ Jur FRAE B o ARy ?

) frafid Y@ w@E s &Rl

q) frafid ¥ Y@ B HAT 9 FY AR @rell e B g B
W) T A H T 6 DA

g) SWIad # ¥ Pl el



88. The purpose of lubrication of Rail JOINtS.....omivevsssrsierererssniss

a) To identify cracks b) for expansion & contraction of rail ends
¢) to reduce wear on fishing planes d) All the above

88. X1 SISl B W& BT I ...
3) R P wgEH B 4) Yo & i1 @ AR ok dgaa @ frg

W) 7ol UBHe B R R R B B9 By 7) Iwaa w

89. While measuring track gauge, The RED reading shown in the Gauge-cum-level indicates.....

a) Slack gauge b) neat gauge ¢) tight gauge d) None
89. ¥F T BN AN WY, Aoi—FH—aael § @ T8 e AT I B 2
SIRSCR] 3) fre W) ele I ) PIE TE
90. Expand form of TMS is
a) Track Monitoring system b) Track Machine system
¢) Track mobility system d) Track Management system
90. ATHTH FT AR &R |
¥) o9& MfreRhT goreh ) ¢ Wi\ gomel!
q) ¢& Tfoefrerar yomen ?) ¥ FEET JoTTen
91. Cut liners shall be used with ................. clip at fish plated joint/Glued joint
a) ERCJ b) ERC c) Anti theft d) None
91. fher wide wEe /7@ WRE W e g @ QI Be AIZ-R BT SYANT fHar S|
S)ERINGIN| ) Semsdt w) TS Ime 3) PR T8
92. Cold weather patrolling shall compulsorily be started when rail temperature goes below
a) tg b) t4+10°C c) t4+20°C d) tg-30°C
92. YT &1 TTUEH AR O R 8 @ HgH # e Afard WU § gw B Al |
) t4 q)tg+10°C H) t4+20°C 3) t,-30°C
93. Check rails should be provided on curves having Radius ......................
a) > 8° b) > 10° ¢)>6’ d)>4°
93, ST ..o el Ped R TP ¥ UG DI S ARy |
) 28° 9) 210° |) 26° T) 24°

94. Deficiency of ballast on LWR track during summer may result in

a) Creep b) Buckling c) Sinking d) cracking
g4, TGN B IR T S AR §F W e A H & IRHEHY B whar ® |
) T q) qfelT |) &9 T) R

95. The normal life of Detonator is

a) 10 years b) 5 years c) 15 years d) 7 years
95, SR &I AWM Wi & |

3) 10 af .49 594 W) 15 ¥ 7) 7 ¥



96. While doing Long duration works the track is protected with

a) Operating fixed indicators b) hand signals
¢) temporary engineering fixed indicators d) none of these
06. ) oY B Pl HYQ T 2F B ... A GeRwT Fpar o B |
3) Hare Rer wabdd q) &1 & Hahd
%) oo SRR ReR widera 2) gl @ P A

97. During works of short duration when the train is required to proceed at restricted speed, the
flagmen should exhibit at a distance from work spot
a) HS red flag at 30 mts, Banner flag at 600 mts & fix detonators at 1200 mts
b) HS green flag at 30 mts, Banner flag at 600 mts & fix detonators at 1200 mts
¢) Caution signal at 30 mts, Banner flag at 600 mts & caution signal at 1200 mts
d) None of these _

97. T AN B Pt B SRF W 2 BT YRERT TR F T g B AaTIGar gl 8, Al
SISTATED! P! BRI WA | HB A W YA BRAT A7 |
) 30 MexX W AT, ol FeT, 600 Hex W &R 3ier 3R 1200 #ex W e SeHeR
3) 30 MeX W TA.QH. BT 3T, 600 Hex W §R Fier AR 1200 #exw W g $eHeR
W) 30 TR WA Faa Ay, 600 Aex W IR Fier 3R 1200 HeX W @ Hba

Q) T A B

98. 98. During works of long duration one termination indicator bearing letters T/G should be
located a distance equal to the length of longest.
a) Express train b) passenger train ¢) goods train d) none of these

98. o) Al B FR B IRE A /SN R AT TP FAIN Gad FaQ ol g b awaR W W
fera g =1RY |

3) Ta g 9) TR A ) Te¥ 79 T) T A P T
99. The flagman should stand at a distance of .......... mts after fixing in the line for protection.
a) 10 mts b) 20 mts c) 45 mts d) 29
99. TN @Y GRET & fog g # BT B AT ... AR B QA W T &A1 ARY |
31) 10 #iex 9) 20 #eR W) 45 A T) 29
100.TTR MeAans ......c.ccceecvucsassacss
a) Through Turndut Renewal b) Through Rail Renewal
¢) Through Turnover Rail Renewal d) Through Sleeper Renewal
100. EIEIAR FT AAAG & ..o
37) g eamse Regara q) g ol Rgarer
¥) o 3R Vel Regaret T) o whwR Rgare

101. What is the Official Language of the Union of India ?

a) Devanagari script b) English ¢) Urdu d) None of these
101, WRE WE B ASTATH FAT 8 ?

&) gaArTd ferfa q) SfUoh W) 99, 7) T QA B T8



102. When was the Official Languages Act 1963 passed ?

a) 10.06.1963 b) 10.05.1963 c) 11.02.1963 d) 11.06.1963
102, TorTeT e 1963 F@ wiRa garm ?
3) 10.06.1963 ) 10.05.1963 ) 11.02.1963 €) 11.06.1963

103. When is "Hindi Day’ celebrated every year ?

a) 14 September  b) 19 September ) 24 September d) 14 September
103. & W "<} Raw” @ wamar wmar & ?

3) 26 Ry 9) 19 RR W) 24 Ryewr <) 14 R

104. What is the Official Language of Arunachal Pradesh ?

a) Hindi &English  b) Hindi ¢) Urdu d) English
104. BV YT B IATHINT &7 & ?

) R=Y vd et @) f*R=h |) I 7) U
105. From when did the Section 3(3) of Official Languages Act take effect?

a) 26 January 1965 b) 30 January 1965

c) 24 September 1966 d) 26 September 1968

105. JTSHTYT Jfefm & T 3(3) H9 & Yool &5 & ?

3) 26 THA 1965 q) 30 STHANT 1965

W) 24 fyawar 1966 T) 26 faR 1968

106. Who is the Chairman of Central Hindi Committee ?

a) Chief Minister b) Prime Minister c) President  d) None of these
106. B=1 o= ARy & ereger a9 & ?

3) qEgEA q) gyTEA ) Isufa 7) 39 9 PIg A8

107. How many Articles are there in Part XVII of the Constitution ?

a) 10 b) 4 c)9 d) 20
107. WAL & 91T XVl # foe e & ?

3) <9 9) IR w|) = ?) 9
108. Who was the First Chairman of the Official Language Commission ?
a) Sri B. G. Khare b) Sri Mohan Das

c) SriR. G. Patil d) Sri Rajendra Prasad

108. RTSTHTST JMTANT & UIH feT& B o ?

3) o @1 o @ ) 4 Aie I

q) 4 3R, oft. urfee 3) & Ao TN

109. Which Article comes under Part-VI ?

a) Article 214 b) Article 210 c) Article 215 d) Article 216
109. ¥RT — VI ¥ $IF ¥ W< © ?

3) IAFWT 214 q) 31T 210 W) WY 215 <) ITHT 216

110. How many members are there in the Parliamentary Committee on Official Language ?
a) 30 b) 40 c) 50 d) 60

110, ISPATHT @1 HHEIT WA & foam wew & ?

&) 30 q) 40 W) 50 ) 60



1. The Minimum length of rail to be cut in case of buckling of rail occurs /appears is ........ mtr.
a) 6.5 : b) 6.0 c) 4 d) 13

1. Qaaﬁwﬁvmmmsﬁaﬁﬁwhﬁmmmw%aaﬂwm ..........
Hex @ |

) 65 q) 6.0 ) 4 3) 13
2. Initial Gap of SEJ for 60 kg & 52 kg rail at De-stressing Temperature is ................. mm.
a) 40 b) 50 ¢) 60 d) 30
2.@€mammweoﬁsmaﬁvsz%m%a$mwﬁmmm .......... L
) 40 9) 50 W) 60 ) 30
3. No of lifting points required for handling 26 meter long panel are ............
a)2 b) 4 c) 6 d)8
3. 2emm.ﬁaaaﬁwﬁf$mmmmﬁgaﬁaﬁm ....... 2
) 2 q) 4 W) 6 T) 8
4. For making gapless Joints of CMS crossing distance of first hole from rail Ly —— mm
a) 80 b) 83 c) 85 d) 50
4.W$ﬁmmﬁsaﬂﬁa§ﬁﬂwmﬁm®?ﬂfm@ ....... e 21
3) 80 9) 83 ¥) 85 T) 50
S. IMR rails should replaced within ............... days
a) 1 b) 2 c)3 d) 4
5. JMSTHAR X BV ... f&l & MR gger o =Ry |
3) 1 q) 2 w) 3 T) 4

6. Greasing of rail in a curve shall be done at ..............

a) Gauge face of outer rail b) Gauge face of inner rail
c¢) Top table of outer rail d) Top table of Inner rail.
6. fbit Mems # Y- @ MR . W & S |
) 9l X BT A B q) 3MdR® ¥ BT T By
W) aed Yo @ o e 7) FaRe YoT B A AT
7. Defective weld (DFW) shall be mark with ......
a) 1 red cross b) 2 red cross ¢) 3 red cross d) 4 red cross
7. AP Ios (SIUHSR) B .......... & Wy faftga fear o
3) 1€ M q) 2 S B9 W) 3 V€ B\ ?) 4 XS B9
8. In Concrete sleeper .......... No of pandrol clips are required.
a) | b) 2 c)3 d)4

8 BB IR F ... e Ugrer e @ smavgddr B €
3) 1 92 W) 3 3) 4



9. In Concrete sleeper .......... number of Liner are required.

a) 1 b) 2 )3 d)4
9. PPIT WIWR N ... W AR A rgegdar gt 8
3) 1 q) 2 ) 3 @) 4
10. In Concrete sleeper .......... number of Rubber Pad are required.
a) 1 b) 2 )3 d) 4
10. PPIC IR § ... &1 IR e A smavadar g 2|
3) 1 q) 2 ) 3 <) 4
11. Normally in LWR section, distance between two BICEPErS I8 cnvscisivainnes cm
a) 60 b) 80 c) 100 d) 50
1. 3 AR W TSR AR § <) iR & §g Y g | Bt 2
3) 60 ) 80 ¥) 100 T) 50
12. Liner used in track circuited area are.........
a) composite liner b) GFN Liner c¢) Metal Liner d) None of these
12. §% Gfbe & F TN 5y 9 Aoy e R & o
) FRTE AR 9) NUHTT R~ W) Jeol A3R <) 37 9§ BIE T
13. Minimum throw of switch is ............. mm in BG track is
a)lls b) 70 c) 95 d) 57
13. 951l 29 9 Raa &1 g9 of ... g
3) 115 9) 70 ¥) 95 T) 57
14. Recommended throw of switch is ............. mm in BG
a) 115 b) 70 c) 95 d) 57
14. 9o ¢ 4 R o7 ool of ... e |
3) 115 §) 70 w) 95 T) 57
15. Heel Divergence for 1 in 12 turnout on PSC sleeper curved switch is....... mm
a) 180 b) 182.5 c) 175 d) 115
15. Groeel TR Bes Rag W 12 § § 1 +omse @ forg &« egac . i
37) 180 q) 1825 ¥) 175 T) 115
16. The broad gauge distance is ......... mm s
a) 1676 b) 1000 c) 1600 d) 1750
16. #E T B T .o ot 21
3) 1676 9) 1000 W) 1600 T) 1750
17. In railway Black smith post comes under ........... department.
a) Security b) Engineering ¢) Personal d) Medical
17. Y4 # @ A ug .............. fawrr & st amar 1
3) e q) goffrai W) Fiffs 7) e



18.

18.

19.

19.

20.

20.

21.

21.

22,

22.

23.

23.

24.

24,

25.

25,

The height of 60 kg rail is .............

a) 172 mm b) 156 mm ¢) 143 mm d) 136 mm

60 fFeNum™ X @ FaE g |
¥) 172 fnd ) 156 fipf ¥) 143 7) 136 e
Actual wear of nose of crossing of 60 kg CMS xing is equal to..........

a) Measured wear -2.5 mm b) Measured wear -2 mm
¢) Measured wear -3 mm d) Measured Wear- 4 mm

60 fhemmy frerew SR A 16 B aafe R P W B
) wd forra —25 A q) w1t ferra —2 fef
W) w1 g —3 A ]) wrdt ferama —a4 faf

Diameter of Drill bit for hole in gapless joints should be ...............

a) 26 mm b) 26.5 mm ¢) 27 mm d) 30 mm

Aot SISt & BT @ forg et e &7 A BT ARy

3) 26 A 9) 265 A W) 27 e g) 30 At

In electrified/ track circuited area .......... tape is used for measurement of rail

a) Steel tape b) cotton tape c¢) metal tape d) Aluminium tape
faqgdiiaa /3o |fde drel &5 § X B 79 D Y . 29 BT IUART fhaT T 1
3) W 2 ) i 2 ¥) a1g < T) vegHifam 2
Emergency joggled fish plate are provided at every ............... kms

a) 0.1 : b) 1.0 e) 1.5 d) 2.0

ThS.......... fheiriiery W STl SifTes fFe ©ie Sueer &-1$ ol & |

3) 0.1 9) 1.0 ¥) 15 g) 20

Slide chair bolt hole in stock rail of Turn out are ..............

a) Same as normal fish bolt hole hight b) 6 mm below fish bolt hole

c) 6 mm above fish bolt hole d) 8 mm below fish bolt hole

TH S B WP Y H WS TR T BY 8 o
3) W Y dice Bl &l S91E @ W 9) R diee B @ 6 A W

¥) fher diee 8l 9 6 firft SwR T) oY 9 B ¥ 8 ARl AR

Oiling & Greasing of SEJ Shall be done by Key man Once in ............

a) Fortnight b) Month ¢) Three month d) Week
Tas @ SifaferT 3R MRHT tF IR T are gRT B SRt

) uEare q) HE ¥) 99 7EM ) WWE

Distance pieces in Platform lines shall be fixed at about ......., meter

a) 13 b) 15 c) 30 d) 20

CEeH dAgAl H g b THS AT . Her @ fpu SR
3) 13 q) 15 ¥) 30 ]) 20



26. The height gauge shall be fixed at height of ........ meter above road level.

a) 4.67 b) 5.67 ¢)4.76 d) 4.50
26. BTEC NS WP WR A ... Wew A Jard w ay far s |
3) 467 q) 567 W) 4.76 g) 450
27. Minimum clearance of check rail for a Curve is ........... mm .
a) 44 b) 51 ¢) 75 d) 48
27. Mg & fore A Yot @ ~gFaw Prer ey & |
3) 44 9) 51 %) 75 <) 48
28. Minimum clearance of check rail for Point & Crossing for PSC sleeper is .................. mm .
a) 44 b) 41 ¢) 51 d) 48
28. Mwdll Wl @ g @rge ik BRI & Ry 3@ Y & 7w P L. Bl 2
3) a4 C9) a4 %) 51 <) 48
29. Minimum clearance of check rail for Level b4 1/ - mm .
a) 41 b) 44 c) 48 d) 51
29.%%%%%’@#%% .................. il 2 |
) 41 q) 44 ) 48 T) 51
30. The Check rail clearance opposite CMS crossing of BG (1673 mm gauge) is .............. mm .
a)41to 44 b) 44 to 48 c)51t057 d) 44 to 50
30. 9o (1673 il W) @ Wvwww SRAT S T I YT DBy il 2
3) 419 44 9) 44 3 48 W) 51 9§ 57 Q) 44 ¥ 50
31. Minimum clearance of ............. mm below foot of stock rail & top of leading stretcher bar shall
be available.
a)l.5 : b) 2 c)3 d)2.5

3. Kb W & fFod R iR diRfT SR ar d i w i o *ETw Ferh
ST B |

3) 15 q9) 2 ¥) 3 T) 25
32. Maximum clearance of ............. mm below foot of stock rail & top of leading stretcher bar shall
be available.
a) 1.5 b)2 c)3 d)2.5

32. WIh ¥ B fEel R iR T R IR & N w° aifdpes il T
Y&l BT |

3) 15 9) 2 W) 3 ]) 25
33. Spherical washer in switch portion shall used on ............. irrespective of LH / RH turnout
a) RH side b) LH side c¢) LH/RH side d) None of these.

33. g 41T # MATER AR FT YA TaIve /JRYT HaMSe W e Ry fer .. W
fasar s |
3) ARYT WIES 9) UAUd WS W) YU /3RUY WSS @) g QA B A8



34. Atlevel crossing Banner flag shall be provided at 5 meter distance from the ...................

a) edge of road metalling b) ends of check rail

¢) Centre line of road metalling d) Centre of check rail
34. QTS PIRFT W ... ¥ 5 Wex A g W AR s T e |

) ged weform &1 fam q) U6 Y D RR

W) WeH WehRiT A D Y 2) %% ¥ F B
35. The central sleeper spacing of conventional type of SEJ is ............ cm

a) 55 'b) 60 ¢) 65 d) 70
35. URIRF YHR & THES B BT WhR g ... a2 |

3) 55 9) 60 ) 65 ) 70

36. Rail drilling machine starts with ...........

a) Water b) Petrol ¢) Diesel d) Kerosene oil
36. Yo fRform wefey . A gE B B

&) T q) g W) S ) et &1 aa
37. Rail drilling machine drills the holes with ...........

a) Water b) Petrol c) Diesel d) Kerosene oil
37. Xa feferm ashq . P T BE ¥l Bl 2

31) Y 9) UgIe q) Iote ]) el @1 aa
38. Rail cutting machine starts with ...........

a) Water b) Petrol ¢) Diesel d) Kerosene oil
38. X BIed B A ... A ge e ® |

31) 9= 9) Ugrd q) Srore ]) fiedt &1 o
39. Rail cutting machine cuts with ...........

a) Water b) Petrol ¢) Diesel d) Kerosene oil
39. N BT LA ... q dedl ¥ |

31) g 9) Ugre q) ST ?) et &1 A
40. Abrasive rail cuttér start & cuts with ...........

a) Water b) Petrol , c) Diesel d) Kerosene oil
40. ITEYH YT FHeX URHA 3R Fe ... GG

) 9) UG W) Sora ) fed &1 J
41. Gauge and cross level measured with help of ............

a) steel scale b) Gauge cum level  ¢) Thermometer d) Steel tape
41, 17 3R B9 Aqe P ... @1 eI ¥ AT I 8 |

) W @l q) TS W8 ®R |) AeR 7) W 2y
42. In steel channel sleeper of bridges ............ no of hook bolts are required

a) | b) 2 c)3 d)4

42. il & VIS ATl WA ¥ ... §F dlee &) Iraegehar e |
31) 1 . q) 2 ¥) 3 T) 4



43.

43.

4.

44,

45.

45.

46.

46.

47.

47.

48.

48.

49.

49.

50.

Joggled fish plate is provided at ..............

a) fish plate joints b) welding joints

¢) Glued joints d) CMS crossing joints

SifTee fher @ie.................. W Iyear Hd Wt 2 |

) frer @ Se q) afeeT <ire

W) s g Wie 7) drunga iR e
Lifting of concrete sleeper track shall not be done more than ......... mm in one stage
a) 25 b) 40 ¢) 50 d) 75

PP WIR 35 & T R0 H ey & aifre e word o wEd B
) 25 q) 40 ) 50 2) 75

Oiling & Greasing of SEJ shall be done once in a .....................

a) fortnight b) month c) week d) two months
TS B SifaferT AR DRET ¥ U IR B AR |

SR ICEIS) ) wET W) w8 T) < WA
Lubrication of fish plate joints shall be done preferably in month of ...............
a) October & November b) April & May
¢) June & July d) December & January
e wie Sret &1 W At . a1E A far S |

3) TR 3R TR 9) 3t iR 7S
W) S 3R g ?) fewmR SR S
Patrolman shall walk ..........
a) In direction of traffic b) facing direction of traffic
¢) Centre of both track d) None of these
TSI AT e oA
3)) Frarard o faem # q) AT B fawm B IR T I
|) Sl P BT = ?) 7 A BIg T
Length of fish bolt for 60 kg rail is ............ mm
a) 140 b) 150 c) 160 d) 170
60 farell ¥ & forg fher diee & o ... a2 |
3) 140 . ) 150 ) 160 T) 170
Length of check rail bolt is ............... mm
a) 160 b) 180 c) 200 d) 210
A% Yol dlee P T ... il 21
3) 160 d) 180 ¥) 200 7) 210
Diameter of bolt of stretcher bar is........... mm
a) 12 b) 14 c)18 d)20

. W AR & dlec BT &AM ... fart 21

3) 12 q) 14 ¥) 18 7) 20



S1. On PSC sleeper 1 in 12 turnout, S & T motor is to be fixed between sleeper no. ..................

a) 1 &2 b)2 & 3 c)3&4 d)5&6
51. 1 g 12 TH3n3e A g8 & Wex H . AR T4 U gy I @

) 1 3R 2 q) 2 3k 3 ¥) 3 3R 4 q) 53R 6
52. In ATW Process rail ends are preheated to the extend of .............

a) 1500+20C b) 1000 +20C c) 800 +20T d) 600 +20T
52. YA S wfFar § Xt & RIY Y . & W ad gl | A fdhar sirar 2

31) 15004+20°C '9) 1000 +20°C W) 800 +20°C @) 600 +20°C

33. Preheating time with LPG in ordinary AT Welding is........ minutes

a)4104.5 b)21t02.5 c)5t06 d)7to8
53. WMRYT U1 AfeeT & vardioh & @rer ST &1 |99 ... fire 21
) 4945 92925 H) 596 T) 798

54. Preheating Time with compressed air & petrol in ordinary ATW iS..................

a) 210 2.5 min. b) 4 to 4.5 min c) 5 min d) none of these.
54. ARV Uéteeyy # wfea &ar 3k 99 @ arr DT &1 9w . g |

3 2 A 25 fiFe q9) 4 ¥ 45 e W) 5 fame q) T | P TN
35. Rail end to be welded should not have any bolt/bond hole within ............ mm in case of AT

welding

a) 30 b) 40 c) 50 d) 60

55. T AfeeT & A H doe fHy o a1 YT RR WX . firft & R B diee /df<e BT
& BT ARy |

) 30 ' 3) 40 W) 50, 2) 60
.| P— are used for doing alignment in ATW welding

a) fish bolt b) chisels ¢) wooden wedges d) MS Liner
56. ... BT ST (IS AfeeT ¥ vargie &x & oY far ofrar & |

31) fber diee 9) B W) dPHs B doil Q) U7 U9 oK
57. Pressure during preheating by compressed Air & Petrol shall be.................

a) 2 to 2.5 kg/ecm? b) 0.2t0 0.3 kg/em®*  c¢) 2 to 3 kg/em? d) 4 to 4.5 kg/cm?
57. WRfST arg SR UgIl gRT MEfET & SN 2arg ... BT |

3) 2 9 25 feur /Y 9) 02 9 0.3 fpur /3

W) 2 & 3 fpur /A’ T) 4 ¥ 4.5 fuT /P
58. Pressure during preheating by oxygen is ..........

a) 7 to 8 kg/cm? b) 4 to 5 kg/cm? c)4to4.5kg/em’  d)0.2t0 0.3 kg/em?
58. JffadIoT §RT Ugel W TRA HRA B SR Ta1q ... BT ® |

%) 7 ¥ 8 four /9 9) 4 9 5 feur /7

W) 4 9§ 45 fHur /a9 g) 02 9 0.3 fum /Qey



59. Finished vertical tolerances on | meter straight edge at the centre on surface of head shall be__

a) + 0.4 mm b) + 0.5 mm ¢)+0.2 d)+0.3
50. R’ & Wag W B ¥ 1 Mex A AR W e Ieafer AEaLer ....... grfr |
3) +0.4 mm d) +0.5mm ¥) +0.2 q) +0.3
L ——
a) Through Turnout Renewal b) Through Rail Renewal
¢) Through Turnover Rail Renewal d) Through Sleeper Renewal
60. AENAR HT AAAT © ...
3) o iamse Regaret 4) 9 Y1 Regaret
W) o TR Yo Reygeret T) o whw Rgara
61. For measurement of Versine in a Turn out, Chord length is taken as ......... Mtrs.
a) 10 b) 20 c) 5 d) 3
61. T ST H qufsd N 919 B oy, B H AN ... #Hex & BY H ol IIh B
3) 10 q) 20 H) 5 ) 3

62. Chamfering of rail holes is done to avoid ............cceevenee.

a) low joints b) high joints ¢) cracks d) None
62. o1 Bl @ TRHNT ... ¥ g & forg @ o 2

) e S 9) I oe ) wWR T) BIg T8l
63. In PSC track at rail joints ............. fish plates are to be used.

a) 1 metre b) 600 mm c) joggled d) glued
63. QTEA 3F # ¥ WSl W ... a1 wiel &1 SyanT fhar ST 2

3) 1 AR §) 600 THTH ) ST 3) g
§4. Rail tensor s used fOr v

a) welding b) distressing c) Rail drilling d) Rail cutting
64. Yol THR BT SUAMT oo @ forg famar Smar 21

3) afesT 9) i w) o fyfe 7) Yo BT

65. When Buckling took place in track or sunkinks developed in LWR track during summer then

arrange the following steps to be taken in a sequential order.

L Cut the rail with gas

II. Protect the track

III.  Inform Station Master & SSE/P.Way

IV.  Cool the rail with possible means.

a) I 1II 1 1V byl 1 I 1V
c) I 1 1 IV din Iv 1 1




65. W TR & SR d N awfer AR & ar v 2@ A daa Rela g &
fafafea sew o™ & swag waven 39|

L X QB

1. 9% B GRfdva v

1. e AR ok waged /0 &) gt a

IV. WIfad |rsl & XS #) dar

AN lonomoav ca@nomorI

| omormov g 1 v 1 oI

66.  While working with JCB for earth work or any other works on track, block required when it
works less than ................. meters from centre line of track.
a)2.8 b) 3.5 c) 6 d)7.5
66. ATl & Fm 1 5 o=y T B Ry AN B AT W B GHT 2F I @A AT
SIET B, S T€ $F B D @ ... AR A BH W P DYl €|

3) 28 q) 35 W) 6 q) 75

67.  While doing Long duration works the track is protected with

a) Operating fixed indicators b) hand signals
¢) temporary engineering fixed indicators d) none of these
67. TR AN B PRI BT THT B Pl ... ¥ gt famar wimar @
3) Hareq ReRr Hodse 9) BT & Habd
W) IS FONaRT ReR Hdsd 3) T W BIg R

68.  During works of short duration when the train is required to proceed at restricted speed, the
flagmen should exhibit at a distance from work spot
a) HS red flag at 30 mts, Banner flag at 600 mts & fix detonators at 1200 mts
b) HS green flag at 30 mts, Banner flag at 600 mts & fix detonators at 1200 mts
c¢) Caution signal- at 30 mts, Banner flag at 600 mts & caution signal at 1200 mts
d) None of these

68. FH 3N B BT D AR WG 29 I UG TfY | MY 98 &) aawadar B £, ar
EqOTATE DI DI BRI WA H HY g4 R YT BT A1MRY |
3) 30 #EY W YAE.UH. oflel $ST, 600 HIeX W IR e 3R 1200 e W) vy eyex
) 30 #leY W TA.UH. BT (ST, 600 A W IR ST 3MR 1200 Hex R by Serex
H) 30 WX \EUTA Hhd HICY, 600 AeX W IR FeT 3R 1200 Aex W A@u Gaa

q) T W PR G

69.  During works of long duration one termination indicator bearing letters T/G should be located
a distance equal to the length of longest.
a) Express train b) passenger train ¢) goods train d) none of these
69.aﬁtm¢m¢ﬂ?ﬁa/aﬂm¥mwmﬁrwmaﬁﬁ®$w@w
feer g1 A1fey |
¥) wEEd g - d) 9HOR g W) N g/ 3) T A P T8



70. The flagman should stand at a distance of ......... mts after fixing in the line for protection.

a) 10 mts b) 20 mts c) 45 mts d) 29
70. RN BN [R&T B AU AT F PR D AT oo #rex A g0 W @ B ARY |
) 10 #rex ' ) 20 M ¥) 45 e q) 29

71. Finished verticals tolerances on 1meter straight edge at end of straight edge on surface of head
shall be ...............

a) 0 to +1mm b) 0 to 0.5mm ¢)+ 0.5 mm d)+ 1.0 mm

71. RR & wag ® @Y AR B ofq ¥ 1 Aoy @Y AR ) AR IR gEade..... 8 |
3) 0to +1mm ) 0t0 0.5mm @) +0.5 mm q) +1.0mm

72. Finished lateral tolerances on 1 meter straight edge at the centre of gauge side shall be ............
a) 0.3 mm b) 0.2 mm ¢) 0.5 mm d) + 0.5mm

72. N9 9 B Bw F 1 Aex WY IR R TIR o FEARAA e gl |
3) 0.3 TR q) 0.2 THTH ¥) 0.5 THTH T) +0.5 TATH

73. Finished vertical tolerances on 10 cm straight edge at end of straight edge shall be ................
a)0to0.2mm b) 0 to 0.3 mm c) 0to 0.4 mm d) 0to 0.5 mm

73. Q¥ fHIR & 3id # 10 I QY FIR R FOC IR FETAHAA oo grfl |

3) 0 ¥ 0.2 THUH §) 0 ¥ 0.3 THTH W) 0 ¥ 0.4 TAGH T) 0 ¥ 0.5UATH

74. Finished lateral tolerances on 10 cm straight edge at centre of straight edge shall be ..............

a) +0.3 mm b) + 0.4 mm c)+ 0.5 mm d) + 1.0 mm
74. Y fFIR @ D= W 10 N DY fFIR R TIR 9 FETLheTT ... BRM |
3) + 0.3 TATH 9) + 04 THUH ¥) + 0.5 THUH <) + 1.0 TAUH

75. While executing the AT welding work if sudden rainfall occurs, what precaution has to take to

complete the work?
a) Joint should be protected by trolley umbrella b) Joint should be protected by tarpaulin

¢) Joint should be protected by rain guard d) welding should not be carried out
75. T AfesT Bt Fxd 9 AR @M aut & Y @ R G B B fw F@ar wraurEh
gRa- BRfY ?
) Sire BT gielt B § GRiad fobar r=m =nfey
9) e &I foRurer g7 w)férd fabar Sm =nfey
|) SiIe &I ¥ TS gRT W}iga fbar Sir @iy
) afesT =& & S ARy |

76. Weld collar painting to be done once in ................. years in corrosion prone area.

a)4 b)3 c)2 d) 1
76. EIRYT YquT &5 # dos BlelN UfeT ... 9 # TP IR B JF AR |
) 4 q) 3 |) 2 ) 1
77. The First train should passed only after .............. minutes after pouring of molten metal and after
rough finishing of welded joints,
a) 30 b) 15 c) 45 d) 20

77. fEch g% a1g SIeF @ 419 SR doss et A v BRI & e ... e & ag &
wﬁtaﬂgﬁvﬁhml

31) 30 q) 15 W) 45 7) 20




78. What will be the effect of tight guage at nose of crossings ............
a) Wheel flange hits the nose of crossing b) More wear on check rails
¢) Shearing of bolts on check rail d) All of the above.

78. BINTT & A W e AT &1 97 Y41G BN
¥) A BT PIRGT A 16 A edvar & @) b Yo W S frera

W) A ¥ W dlee B FaRA T) SWREd T |
79. For PQRS work for running of portal cranes the gauge of auxiliary track is ............ mm.
a) 1673 b) 1676 ¢) 3400 d) 3500
79. NIAQIRTH F1 @ fog Odw B T D g TEAS 2 BT AT L. B 2
31) 1673 q) 1676 H) 3400 ) 3500
80. The spring setting device should be fixed on sleeper NO...cvcveers in 1.12, 60 Kg Turnout.
a) 13 b) 14 c) 15 d) 16
80. 1.12, 60 fheirm ewiemse # Ry AT R & WIWR FaR ... T -T SAT TR
) 13 q) 14 W) 15 %) 16

81. The purpose of going as key man by mate in once in week is ............

a) To know the condition of the section b) to see any encroachments
¢) to check the work done by key may d) All the above
81. UGIE # TP IR A gNT P-4 & Y § OF $T ST & ...
3) w1 Refy 9 & forg q) fodl A afgwor &1 <@m & fog

|) goil gRT fby U & @ Sfg FRA B oy ) ST w

82. While recording temperature at site during carrying maintenance works, if the temperature
shows in Red colored zone on the rail thermometer , then what is the action to be taken?
a) Carry regular maintenance works b) Stop doing regular maintenance works
c) introduce Hot Weather Patrolling d) bothb & ¢

82. T&RWG B1Y B TR WIge W YA RS T 977, Y Yol oMiAier R aowme ofrel 4
@ 83 A fIErs <ar &, @ /1 FRAS P o ARy ?
) frafad @ <@ et e 9) frafa @ g o) SR 9 B
) TH AT § T g DA ?) 9 3R 9 M

83. While recording temperature at site during carrying maintenance works, if the temperature
shows in Yellow colored zone on the rail thermometer , then what is the action to be taken?
a) Carry regular maintenance works
b) Stop doing regular maintenance works & Close the empty gallas
¢) introduce Hot Weather Patrolling
d) None of the above
83. WERWM P & R Wge W AGAH RS Hva w9, Al X emfiier W arqwm Gy <1
% &7 ¥ fRard a1 8, O &1 FRar & a9y ?
) fAafig v @ s e
9) frafdd Y@ v@E B w4 B IR @rel e B d
W) T JE # Ted g% Heer
) SR # | BIg T



84. The purpose of lubrication of Rail JOINtS.........ccvvrrvvcererivreenns

a) To identify cracks b) for expansion & contraction of rail ends
¢) to reduce wear on fishing planes d) All the above

84. X TSN B W& HT IERYYT ...
) R A ggET HIA 9) ¥ @ AR @ far 3k dgae @ farg

W) ¥oel! UFHe B A W R & a9 Fe 7)) SWa T

85. While measuring track gauge, The RED reading shown in the Gauge-cum-level indicates.....

a) Slack gauge b) neat gauge ¢) tight gauge d) None
85. 3% I B WYY GHY, NA-FH—del ¥ g ¢ e AT A wer 2
SRS S 9) e A W) ere i 2) BIg EI
86. Expand form of TMS is
a) Track Monitoring system b) Track Machine system
¢) Track mobility system d) Track Management system
86. AITHTH & R & |
3) 2 ANl gomeh 9) 2@ 7= gomen
9) o& Tfcreierar gomed ?) SF Y§EH Yorell
87. Cut liners shall be used with ................. clip at fish plated joint/Glued joint
a) ERCJ b) ERC c) Anti theft d) None
87. fher wice wEe /7S WI8E W ... g @ A1 He AR BT SYART fHar S|
31) e ) S ¥) & e 3) PIS TRl
88. Cold weather patrolling shall compulsorily be started when rail temperature goes below
a) tg b) tg+10°C ) t4+20°C d) t4-30°C
88. Y&l &1 ATYAM K OH W S8 & ArH ¥ TR AR 9 § ¥ Bl el |
3) t4 d)ty+10°C ¥) tg+20°C ) t4-30°C

89. Check rails should be provided on curves having Radius ......................

a)>8’ b) > 10° ¢)> 6 d)>4°
89. fETW .......... qlel B TR P el Y B S =1y |
3) 28° q) 210° W) 26° T) 24°

90. Deficiency of ballast on LWR track during summer may result in

a) Creep b) Buckling c) Sinking d) cracking
90. AT & SR Tal S AR o& W et & o & yRumEHY &) woar & |
&) T q) FahfeiT |) €T T) TWR

91. The normal life of Detonator is

a) 10 years b) 5 years c) 15 years d) 7 years
91. ¥2SeX P WY WIdq & |

&) 10 a§ q) 59y W) 15 @ q) 7 o



92. New AT weld shall be tested with USFD within .......ccoouen. months

a) 1 b) 2 ¢)3 d) 4
92. Y U Ac® BT TEI.......... wE & MR guavwd) @ [ far S|

3) 1 q) 2 ) 3 2) 4
93. Reference mark of SEJ is ............. mm higher than top table of rail surface

a)0 b) 5 c)25 d) 50
93. THEW FT W g Yo wag & o @ W ot Sam 2

) 0 95 W) 25 2) 50

94. Rail dolly is used for carrying ...............

a) Ballast b) Rail c¢) Water d) None of these
94. X Yl BT SUAMT...... o WM @ fog fbar wmar @

3) fcd S ) ) T A P T
95. In one box of detonator contains ............ no of detonator

a) 8 b) 10 c) 12 d) 6
95. SR B [ dfgd § K B ... HeEgT Bt 7|

3) 8 9) 10 ¥) 12 Q) 6

96. For welding rail end should not be cut by ........

a) Hexa blade b) Gas c) Rail cut machine  d) Abrasive rail cutter
96. AT & foIg X & RR BT o §RT &l el ST A1y |

3) TR =S 9) I q) ¥ He 7N T) YT XA PHex
97. Box spanner used for tightening of ...............

a) Stud bolt b) rail screw c) fish bolt d) stretcher bar bolt
97. s AR & SUAI ... B A D forg fpar wram @ |

3) 'S T ) XA @ W) e e T) HWeR R dee
98. In a turnout rail screw shall be tightened by .............

a) box spanner b) fish bolt spanner ~ c¢) hammer d) auger
98. THIMST H VA & B ... gRT &9 faar S |

) dfeq 'R 9) e dlec MR ¥) R T) aHT
99. Versine in a curved tongue rail & curved stock rail is measured by .................

a) steel tape b) thermometer ¢) gauge cum level  d) nylon cord
99. A@ER 27 ¥ 3R YAMEER WIH ¥l § T Bl ..covo SRT |97 7T 2

3) W 2y 9) AR |) T 98 'R T) I BrS

100. The gap to be maintained at SSD in Thik web switches between stock Rail and Tongue Rail is
a) 56 + 2 b) 58 + 2 c) 60+ 2 d) 64+ 2

100, WP Vo1 3R 7 ¥ & dra % 99 Rag § THTHS TR 990 @1 W arer i) 2|
) 5642 q) 58+2 W) 60 2 T) 64t 2



101. What is the Official Language of the Union of India ?

a) Devanagari script b) English ¢) Urdu d) None of these
101, WA WG B IoTITET AT # ?

3) AT ARy ) afioh W) 3¢ q) 3 A Prg T
102. When was the Official Languages Act 1963 passed ?

a) 10.06.1963 b) 10.05.1963 c) 11.02.1963 d) 11.06.1963
102, STomTYT 3fRfYTT 1963 wa TR garm ?

37) 10.06.1963 d) 10.05.1963 W) 11.02.1963 <) 11.06.1963

103. When is ‘Hindi Day’ celebrated every year ?

a) 14 September b) 19 September c) 24 September d) 14 September
103. & I "= Ry w9 wamar W @ ?

3) 26 fyawr 9) 19 Riawr q) 24 faawr T) 14 fHaar

104. What is the Official Language of Arunachal Pradesh ?

a) Hindi &English  b) Hindi c) Urdu d) English
104. TEUTEA TR PN ISTHINT T & ?

3) R @t @) R %) 9 <) st
105. From when did the Section 3(3) of Official Languages Act take effect?

a) 26 January 1965 b) 30 January 1965

c) 24 September 1966 d) 26 September 1968
105. RTSTHTST SAfAFTTH & oRT 3(3) B9 | YT 83 © 7

3) 26 STFARI 1965 §) 30 SFaNI 1965

W) 24 fdwR 1966 g) 26 fawax 1968

106. Who is the Chairman of Central Hindi Committee ?
a) Chief Minister b) Prime Minister c) President  d) None of these

106.%3%@.@%?3%@?%?

) gEHA! ) JEEEAT W) Ugufd  T) I A IS T8
107. How many Articles are there in Part XVII of the Constitution ?

a) 10 b) 4 c)9 d) 20
107. HfIETH & AFT XVII # fhae sges © ?

3) <9 9) TR |) At ]) 9
108. Who was the First Chairman of the Official Language Commission ?

a) Sri B. G. Khare b) Sri Mohan Das

c) SriR. G. Patil d) Sri Rajendra Prasad
108. XTSTATST 3TANT & WIH 37Edel DI & ?

) & @S W 9) i AreT <N

q) & aR. S wifed T) 5 oI Y9I

109. Which Article comes under Part-VI ?
a) Article 214 b) Article 210 c) Article 215 d) Article 216

109. | — VI H B9 AT 3BT 8 ?
) IFWT 214 d) JFHT 210 W) 3WT 215 ) ATWT 216

110. How many members are there in the Parliamentary Committee on Official Language ?
a) 30 b) 40 c) 50 d) 60

110. ISTATYT @1 HHE wfafa & fhas wewy & ?
3) 30 q) 40 ¥) 50 7) 60
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Versine in a curved tongue rail & curved stock rail is measured by .................
a) steel tape b) thermometer ¢) gauge cum level d) nylon cord

. YHIARR & X 3R guraaR wis Yo F adfg @y &1 ATaT v #

¥) e 2y a) emifiey ¥) N5 98 ®R @) gt Pré

The gap to be maintained at SSD in Thik web switches between stock Rail and Tongue Rail is
a) 56 +2 b) 58 + 2 ¢) 60+ 2 d)64 + 2

wIE Yot MR S Xt D fu Br A9 Rag ¥ TATEE W G @1 Y A s 2|
3) 5642 q) 5842 ¥) 60+ 2 T) 64+ 2

For measurement of Versine in a Turn out, Chord length is taken as ......... Mtrs.
a) 10 b) 20 c) S d) 3
& e ¥ FwlET B A B g, PrE B o . Aex B w9 F o o B
3) 10 q) 20 W) 5 ) 3

Chamfering of .rail holes is done to avoid ........................

a) low joints b) high joints c) cracks d) None

X B wHiaT L W g @ fog A o

%) et s 9) 32 S W) R ?) P T
In PSC track at rail joints ............. fish plates are to be used.

a) 1 metre b) 600 mm c) joggled d) glued

Ao $F # Yer oSl W fher wrel @1 ST fbar T @)

3) 1 Aex 9) 600 THGH W) ST ?) g
Rail tensor is used for ...........cccovererrerennnnnn..

a) welding b) distressing ¢) Rail drilling d) Rail cutting

. X SR BT ST .o & forg fomam S 21
) afesT _ ) feRiT ¥) Yo fyfemr ?) X BfeT

When Buckling took place in track or sunkinks developed in LWR track during summer then
arrange the following steps to be taken in a sequential order.
L Cut the rail with gas
IL. Protect the track
IIl.  Inform Station Master & SSE/P.Way
IV.  Cool the rail with possible means.

a) I 11 Il IV I m 1 v

o I I I 1V I IV I 1
7.mnﬁﬁ$m¢$ﬁwﬁwm%mmﬂ?%ﬁmmm%a

frfafea Hen SoM P BHaE Jawerr H |

[ ¥ & QB

. 8% BT GrieT ¥

11, ¥ AR 3R THURE /O Y e

IV, ST AT & YT B gaT Py

<) T U (O 1| B 1Y C)J0 | B 1 S O\

[ 01y g I IV I I



8. While working with JCB for earth work or any other works on track, block required when it
works less than ................. meters from centre line of track.
a)2.8 b) 3.5 c) 6 d)7.5
8. gl & & a1 5 oy @1 & forg RN B W B IS GHT 2T BT @did AT T
? O UE QP B B XA Hlex | BH W BH B B
) 2.8 q) 35 9 6 %) 78

9. While doing Long duration works the track is protected with

a) Operating fixed indicators b) hand signals
¢) temporary engineering fixed indicators d) none of these
o. T R D R AR W Pb W ... A QR fvAT A R |
) Fared Rer Waas q) BT B Had
W) g SR Rer wads 3) T A PIS T

10.  During works of short duration when the train is required to proceed at restricted speed, the
flagmen should exhibit at a distance from work spot
a) HS red flag at 30 mts, Banner flag at 600 mts & fix detonators at 1200 mts
b) HS green flag at 30 mts, Banner flag at 600 mts & fix detonators at 1200 mts
¢) Caution signal at 30 mts, Banner flag at 600 mts & caution signal at 1200 mts
d) None of these

10. 9 AW & H1AT & IRM o9 29 BT 9G¥ 3T FeN I anavabar e L, ar
ETTATED] Bl BRI A ¥ FB 0 W Y&¥F o1 A7 |
3) 30 HIeX W TATH. AT Fiel, 600 AR W §R 3ieT 3R 1200 Arex ) fraq Seiex
9) 30 HIeY W TAYH. B H<T, 600 HeX W IR 3ieT 3R 1200 Arexw W gy -
W) 30 WR WG Webd Hiey, 600 Hex W IR sier 3R 1200 Wex W QrauH Gda

3) T W B T

11.  During works of long duration one termination indicator bearing letters T/G should be located
a distance equal to the length of longest.
a) Express train b) passenger train ¢) goods train d) none of these

11.mm%m%ma/vﬁamwwwﬁwmm§ﬁ$w@w
fera g =Ry |

) T g 9) UAOR A W) TS9 g9 ?) T A P T

12. The flagman should stand at a distance of .......... mts after fixing in the line for protection.
a) 10 mts b) 20 mts ' c) 45 mts d) 29

12. FelTHT B GRaT & forg omga # T @ are ... AR A 0 R @I & =Ry |
31) 10 HieR q) 20 #ex ¥) 45 #Hex T) 29

13.  The Minimum length of rail to be cut in case of buckling of rail occurs /appears s ........ mtr.
a) 6.5 b) 6.0 c) 4 d) 13

13, iaaﬁaa#%—fvaﬁmmsﬁaﬁﬁuﬁﬁﬁmﬁmﬁhaﬁwm ..........
AR & |
3) 65 9) 6.0 W) 4 T) 13



14. Initial Gap of SEJ for 60 kg & 52 kg rail at De-stressing Temperature is ................. mm.

a) 40 b) 50 ¢) 60 d) 30
14. ST AIHE W 60 fhur 3R 52 T Y B v vEES BT URMS 3R ... iy 81
) 40 q) 50 ) 60 2) 30

15.  No of lifting points required for handling 26 meter long panel are ............

a) 2 b) 4 c)6 d)8
15. 26 MR W VT P WM @ frg amawas Sor arel fargall A ww@AT .. B
) 2 : q) 4 ¥) 6 T) 8
16. For making gapless joints of CMS crossing distance of first hole from rail end is ........... mm
a) 80 b) 83 c) 85 d) 50
16. ¥ITATH & Ao S a9 @ g ¥ RR & ugel B8 &) 2T g ... felt 81
3) 80 q9) 83 ¥) 85 T) 50
17. IMR rails should replaced within ............... days
a) | b) 2 c)3 d)4
17. SMSTHIR X B ... faAl & R agen ST =Ry |
3) 1 q) 2 ¥) 3 Q) 4

18. Greasing of rail in a curve shall be done at ..............

a) Gauge face of outer rail b) Gauge face of inner rail
c¢) Top table of outer rail d) Top table of Inner rail.
18. f=ft Mg # Yo @ WRIT W B S |
31) qE XA BT AT B 9) 3alR® YT &1 9 B
7) TS X B A e 2) aiaRe Yer @ ¢ aferaT
19. Defective weld (DFW) shall be mark with ......
a) 1 red cross b) 2 red cross c) 3 red cross d) 4 red cross
19. Nl Ie€ (STHSKY B oo & e fafega fear S|
3) 1 X8 B9 9) 2 X B ¥) 3 S B T) 4 ¥© B9
20. In Concrete sleeper .......... No of pandrol clips are required.
a)l b) 2 c)3 d4
20. PPIC WIR #H ......... T Ugie fey & anavasdar B R
31) 1 9) 2 W) 3 ?) 4
21. The First train should passed only after .............. minutes after pouring of molten metal and after
rough finishing of welded joints.
a) 30 b) 15 c) 45 d) 20
21, fygelt g a1g S @ 412 3R doss el @ Y% AR & @ ... e & ag &
ugell g oAl TRy |

31) 30 9) 15 W) 45 T) 20



22.

22.

23.

23.

24.

24.

25.

25.

26.

26.

27.

What will be the effect of tight guage at nose of crossings ...........

a) Wheel flange hits the nose of crossing b) More wear on check rails
¢) Shearing of bolts on check rail d) All of the above.

IR & A W erde A S a1 yaE@ 8

3) A wAIS BT A A6 A e & @) A5 Yo W 7S g

W) 9P W W A P HawA T) S @ |

For PQRS work for running of portal cranes the gauge of auxiliary track is ............ mm.

a) 1673 b) 1676 c) 3400 d) 3500
NTgIRTE F1 & oy Add B9 9o D RIT 980F 2 I A . B 2

31) 1673 q) 1676 W) 3400 2) 3500

The spring setting device should be fixed on sleeper No............ in 1.12, 60 Kg Turnout.

a) 13 b) 14 c) 15 d) 16

1.12, 60 fheim eemree # Ry AT Ragw H @R AR ...... W R ST =AY |
) 13 q) 14 9) 15 T) 16

The purpose of going as key man by mate in once in week is ............

a) To know the condition of the section b) to see any encroachments

¢) to check the work done by key may d) All the above

e H (& R A gRT P-4 & ©Y § O BT I & ...

) T Reifer = @ forg q) fodl 0t srfrgwor & <@ & forg

W) goft gRT Py 70 F & §irg e B fow ) SWRIad il

While recording temperature at site during carrying maintenance works, if the temperature
shows in Red colored zone on the rail thermometer , then what is the action to be taken?

a) Carry regular maintenance works b) Stop doing regular maintenance works

¢) introduce Hot Weather Patrolling d)bothb & ¢

@A PRI P IRF WIS R A9AE R R T3, I Yot odifier W quw= ot 97
3 &3 ¥ s <@ &, O |1 SR A A ARy ?

31) fafia @ @ s R 9) Fafia @ v@E $ AT 98 B

¥|) T AEH H T PH B T) 9 3k 9§ <HI

While recording temperature at site during carrying maintenance works, if the temperature
shows in Yellow colored zone on the rail thermometer , then what is the action to be taken?
a) Carry regular maintenance works
b) Stop doing regular maintenance works & Close the empty gallas
¢) introduce Hot Weather Patrolling
d) None of the above

27. TEYEIq BT P SR HIge W a9AH R axd w9, afe Y emifiier W argeq @ w1

@ &9 # few@rg <ar 8, @ 91 IRag H S ARy ?

%) frafia v @ s &

9) frafid Y@ v@E Bl R 95 B AR @rel A B g7 B
W) T #EH § T Y6 B

7) SUIad # | B e



28. The height gauge shall be fixed at height of ........ meter above road level.

a) 4.67 . b) 5.67 ¢)4.76 d) 4.50

28. B1EC I WP WR W ..o Hex A Jard w Ty far s |
3) 467 q) 567 W) 4.76 q) 450

29. Minimum clearance of check rail for a Curve is ........... mm .
a) 44 b) 51 c)75 d) 48

20. Mg & foQ 9% ¥t A ~Faw Py ... e 2 |
3) a4 9) 51 %) 75 ) 48

30. Minimum clearance of check rail for Point & Crossing for PSC SIEEDOF 18 . iiinamssinnios mm.
a) 44 b) 41 c) 51 d) 48

30. ITHE ViR B forg @ige ok BRI S g A% Yo7 @ wTaE P L B 2
) 44 q) 41 ) 51 q) 48

31. Minimum clearance of check rail for Level Xing s mm .
a) 41 ' b) 44 c) 48 d) 51

31. 9 BT B fog o9 Yo B e Py ... o 2
) 4 q) 44 W) 48 <) s

32. The Check rail clearance opposite CMS crossing of BG (1673 mm gauge) is .............. mm .
a) 41 to 44 b) 44 to 48 c)51to 57 d) 44 to 50

32. 4o (1673 Rl 1eT) @ Avew ST & 9 9% Y Py el 2
3) 41 9 44 9) 44 9 48 W) 51 ¥ 57 ]) 44 9 50

33. Minimum clearance of ............. mm below foot of stock rail & top of leading stretcher bar shall
be available.
a)l.5 b)2 c)3 d)2.5

33. WH A & fFad TR IR AT ER IR s N o= . it & <A e
SUSTE BT |

3) 15 ‘ q) 2 ¥) 3 g) 25
34. Maximum clearance of ............. mm below foot of stock rail & top of leading stretcher bar shall
be available.
a) l.5 b) 2 c)3 d)2.5

34, Wb ¥ B Ao R iR oifeT ¥R IR @ N w® aifdeay il iR
Syl B |

3H) 15 q) 2 ¥) 3 T) 25
35. Spherical washer in switch portion shall used on ............. irrespective of LH / RH turnout
a) RH side b) LH side ¢) LH/RH side d) None of these.

35. fag 41T # MAGR IR HT ITANT Tave /IRGE SHoGe R e e fer . W
forar SR |
3)) IRYF AES 9) TolYY WigE W) UAUd /3IRUY WigE <€) § q BIg T8



36. At level crossing Banner flag shall be provided at 5 meter distance from the ...................

a) edge of road metalling b) ends of check rail

¢) Centre line of road metalling d) Centre of check rail
36. g BT W .. A 5 frex A g W AR ster ar A |

) WP wefonm & framn q) AP A B M

w) WeF e B D Y@ 7) ¥ Y B R
37. The central sleeper spacing of conventional type of SEJ is ............ cm

a) 55 b) 60 ¢) 65 d) 70
37. TRIRG TR D TS B BT TR Gh . A D

3) 55 q) 60 ) 65 7) 70

38. Rail drilling machine starts with ...........

a) Water b) Petrol ¢) Diesel d) Kerosene oil
38. Xa1 f3ferr ashm . A IS Bt 7
3) 9 q) Ugrd |) Sotel 2) fAed) @ ad
39. In Concrete sleeper .......... number of Liner are required.
a) 1 b) 2 c)3 d)4
39. PHIT TR H ......... HAT AR P JATaeIbal Bl 2 |
3) 1 9) 2 ) 3 ) 4
40. In Concrete sleeper .......... number of Rubber Pad are required.
a) | b)2 c)3 d)4
40. FPIT TR H ..cccce HET IR TS 1 Aaegdhar Bl o
3) 1 9) 2 W) 3 ) 4
41. Normally in LWR section, distance between two sleepers is .................. cm
a) 60 b) 80 c) 100 d) 50
41. 39 AR W TaISRIR AR # 3 W®iIwR & 6 & Q.o I Bt 2
37) 60 9) 80 ¥) 100 g) 50

42. Liner used in track circuited area are.........
a) composite liner b) GFN Liner ¢) Metal Liner d) None of these

42, ¥ Wi &7 § ITT R S A IR & ..o
%) PHIRIE AER  9) AHYT AER - W) AHed dER ) T N P T

43. Minimum throw of switch is ............. mm in BG track is

a) 115 b) 70 c) 95 d) 57
43, G0 2 # Rag &1 AT U ..o 2 |

3) 115 q) 70 W) 95 g) 57
44, Recommended throw of switch is ............. mm in BG

a) 115 b) 70 c) 95 d) 57
a0, GA 2% 3 Rad &1 SRR oY o frl & |

3) 115 q) 70 W) 95 ) 57



45. Heel Divergence for 1 in 12 turnout on PSC sleeper curved switch is....... mm

a) 180 b) 182.5 c) 175 d) 115
45, Nl WIR Fe€ Rag W 12 § § 1 earge & fory & sIasty ........ it 2

3) 180 q) 1825 W) 175 <) 115
46. The broad gauge distance is ......... mm

a) 1676 b) 1000 ¢) 1600 d) 1750
6. AT A e 2

) 1676 ) 1000 W) 1600 q) 1750
47. In railway Black smith post comes under ........... department.

a) Security b) Engineering ¢) Personal d) Medical
47. X H A RAA Ug T & srarfa amar 21

J) gRem q) soifafr |) Piis 3) fafecar
48. The height of 60 kg rail is .............

a) 172 mm b) 156 mm c) 143 mm d) 136 mm
48. 60 fHATH XA B FATS oo 2 |

3) 172 el q) 156 fy |) 143 iR Q) 136 il
49. Actual wear of nose of crossing of 60 kg CMS xing is equal to..........

a) Measured wear -2.5 mm b) Measured wear -2 mm

¢) Measured wear -3 mm d) Measured Wear- 4 mm
49. 60 fHarmA Higagw SR @ 7196 @ Ivafas T ... P WR &

3) w1 forarg —2.5 fAed §) #rdt ferema —2 frh

W) w1 forme —3 A T) A1dr forama —a4 el
50. Diameter of Drill bit for hole in gapless joints should be ...............

a) 26 mm b) 26.5 mm ¢) 27 mm d) 30 mm
50. gera ol # 8 & forg fgal fde &1 &= ... BT =12y

3) 26 A q) 265 A w) 27 A T) 30
51. In electrified/ track circuited area .......... tape is used for measurement of rail

a) Steel tape b) cotton tape c) metal tape d) Aluminium tape
51. fagqgdiga /3@ |fde d &3 # X & A9 B g ... 29 & YA fhar o )

3) we <y a) ¥ ew %) arg v ?) TeghfRm g
52. Emergency joggled fish plate are provided at every ............... kms

a) 0.1 ; b) 1.0 ¢) 1.5 d) 2.0
52. UAP..... féreiiiey R smra@Tele iTes fher wie Sueer w1g o @ |

3) 0.1 9) 1.0 W) 15 q) 20

53. Slide chair bolt hole in stock rail of Turn out are ..............
a) Same as normal fish bolt hole hight b) 6 mm below fish bolt hole
¢) 6 mm above fish bolt hole d) 8 mm below fish bolt hole



53. T AT B Wb ¥ N WIgS W AT B &
) N b Aiwe B A Jard @ wwm @) e aree Ba @ 6 el A

W) fbw A B @ 6 Al sw 7) fber aree Bl @ 8 Al i
54. Oiling & Greasing of SEJ Shall be done by Key man Once in ............

a) Fortnight b) Month ¢) Three month d) Week
54. TS B offafei ek MR vF ar T ara grr @A aL.

S)BRICEIS) q) A @) N 7 7) qaE
5S. Distance pieces in Platform lines shall be fixed at about ........ meter

a) 13 b) 15 ¢) 30 d) 20
55 QITHT EA ¥ g/ D THS T ... Arex qa fpy S

) 13 q) 15 W) 30 q) 20
56. Rail drilling machine drills the holes with ...........

a) Water . b) Petrol c) Diesel d) Kerosene oil
56. X1 fyfeim 7ol ......... S 9 BT fgad a2

3) T 9) ¥ ) STl ?) fiedt &1 o

57. Finished verticals tolerances on 1meter straight edge at end of straight edge on surface of head
shall be ...............

a) 0 to +Imm b) 0 to 0.5mm c)+0.5 mm d)+ 1.0 mm
57. RR & Tz W A fFIR & 3 § 1 Aex WY fFR R TR SwEer geTehiadl...... eFfl |
3) 0to+1mm §) 0to 0.5mm ¥) +0.5mm g) +1.0mm

58. Finished lateral tolerances on 1 meter straight edge at the centre of gauge side shall be ............

a) 0.3 mm b) 0.2 mm ¢) 0.5 mm d) + 0.5mm

58. 57 06T @ v # 1 Hiex WY fFR W TR Ied FEeierd ... Bt |
3) 0.3 THUH 9) 0.2 THH ¥) 0.5 TATH g) +0.5 TAgH

59. Finished vertical tolerances on 10 cm straight edge at end of straight edge shall be ................
a) 0to 0.2 mm b) 0 to 0.3 mm ¢) 0t0 0.4 mm d) 0to 0.5 mm

59. €Y fFIR & 3fd & 10 A WY fFIR W I SeheR FEALherdr ............ Bt |

3) 0 ¥ 02 THGH §) 0 9 0.3 TAUA ¥) 0 ¥ 04 TATH g) 0 ¥ 0.5TH7H

60. Finished lateral tolerances on 10 cm straight edge at centre of straight edge shall be ..............

a)+0.3 mm b) + 0.4 mm ¢)+ 0.5 mm d)+ 1.0 mm
60, A fFIR @ B W 10 9 WY fFR W TR o FETehard ............ gl |
3) + 0.3 THTH 9) + 04 THUH ¥) + 0.5 THYH T) + 1.0 THGH

61. While executing the AT welding work if sudden rainfall occurs, what precaution has to take to
complete the work?
a) Joint should be protected by trolley umbrella b) Joint should be protected by tarpaulin
¢) Joint should be protected by rain guard d) welding should not be carried out




61. U1 afeeT @i v Wy afk s auf @ wig @ s g B @ forg gar wraer
e gnft ?
) S & gieht B A [Rfva fvar s =Ry
q) S8 # foRure g1 WA frar s anfdy
W) e B W= ME grT Wfda far s ke
) ST T8 A o Wk

62. While measuring track gauge, The RED reading shown in the Gauge-cum-level indicates.....

a) Slack gauge b) neat gauge ¢) tight gauge d) None
62. 3% AT P AYQ WHY, Noi-PH—aaa ¥ faarg 7 arer AT g w21
) WP q) fe @) ere T T) P AL
63. Expand form of TMS is
a) Track Monitoring system b) Track Machine system
¢) Track mobility system d) Track Management system
63. ATHTH &1 AR W |
3) ¢ AR gomeh 9) ¢F 9= yomel
¥) ¢ wfcreiear yomen T) 9F YU yorel
64. Cut liners shall be used with ................. clip at fish plated joint/Glued joint
a) ERCJ b) ERC ¢) Anti theft d) None
64. e wics SAEe /T8 WRE W ... frey & |1 B AR BT SYART fhar S|
31) SRS ) Sam= |) TS 9we T) BIg T8
65. Cold weather patrolling shall compulsorily be started when rail temperature goes below
a) tg b) ta+10°C c) t4+20°C d) t4-30°C
65. Y& BT QYA A M R I B AT F TG AR W F g B S |
3) tg d)ty+10°C ¥) tg+20°C T) t4-30°C

66. Check rails should be provided on curves having Radius ..............c.......

a)>8° b) > 10° c)>6° d)>4°
66. ST ...coocoocn el B TR ISP Nl YGH DI S iy |
3) 28° . q) 210° ) 26° T) 24°

67. Deficiency of ballast on LWR track during summer may result in

a) Creep b) Buckling c) Sinking d) cracking
67. AT @ SRM T S 3R £ W e & oA & IRVTRGHY 8 GHaT § |
31) q) qpferT |) o T) R

68. The normal life of Detonator is

a) 10 years b) 5 years c) 15 years d) 7 years
68. SSEX & WA fiad & |

&) 10 af 9 5af W) 15 ¥ ?) 7 T



69. New AT weld shall be tested with USFD within ............... months

a) 1 b) 2 )3 d)4
69. Y U A5 T geor.. . T B iR quarwd & wrer far s |

) 1 q) 2 ¥) 3 7) 4
70. Reference mark of SEJ is ............. mm higher than top table of rail surface

a)0 b) 5 c) 25 d) 50
70. T 1 weof g Yo ww o o 2w W . Rl o )

) 0 q) 5 W) 25 2) 50

71. Rail dolly is used for carrying ............

a) Ballast b) Rail c¢) Water d) None of these
71. X Srelt BT IgINT.L o oM @ forg fbar T @ |

3) fred 9) X ) ol 3) T A PIE T
72. In one box of detonator contains ............ no of detonator

a) 8 b) 10 c) 12 d)6
72. SCHEX B TS dfed § TSR B .. He&r gt B |

31) 8 3) 10 H) 12 3) 6

73. For welding rail end should not be cut by ........

a) Hexa blade b) Gas c¢) Rail cut machine  d) Abrasive rail cutter
73. AT & oI Y & RR BT ERT &l HIeT ST a1y |
J) TR e . 9) 1 |) ¥ Fe 7= T) OHUT ¥ Pex
74. Box spanner used for tightening of ...............
a) Stud bolt b) rail screw c) fish bolt d) stretcher bar bolt
74. dfxT VR BT ST ......... B HE D forg fvar S @ |
3) e diee 9) N @ ¥) e Qe T) ¥R R qee
75. In a turnout rail screw shall be tightened by .............
a) box spanner b) fish bolt spanner  ¢) hammer d) auger
75. THASE # YA T, BN . ERT &9 fear S |
3) dfeq | 9) e diee WFR W) R T) a= T
76. Patrolman shall walk ..........
a) In direction of traffic b) facing direction of traffic
¢) Centre of both track d) None of these
76, UV B .o T
&) grarard @ faem A q) A B fE B AR @ e
W) aFl 8B BT D= T) 3 | BIg T8
77. Length of fish bolt for 60 kg rail is ............ mm
a) 140 b) 150 c) 160 d) 170

77. 60 fell Y1 & forg foher aiee A oy ......... firt 2 |
3) 140 d) 150 ¥) 160 T) 170



78. Length of check rail bolt is .............. mm

a) 160 b) 180 ¢) 200 d)210
78. AP X qoc P T_TE L i &)

3) 160 q) 180 ) 200 ) 210
79. Diameter of bolt of stretcher bar is........... mm

a) 12 b) 14 c) 18 d) 20
79. W IR B Qe BT AN ... el 81

) 12 q) 14 ) 18 7) 20

80. On PSC sleeper 1 in 12 turnout, S & T motor is to be fixed between sleeper no. .........cccc....

a)l &2 b)2&3 c)3&4 d)5&6
80. 1 7 12 THASE H U & AR &Y ... IR T/ W g o711 2

3 1 3R 2 q) 2 3R 3 ¥) 3 3R 4 7) 5 3R 6
81. In ATW Process rail ends are preheated to the extend of ..............

a) 1500+20C b) 1000 +20C ¢) 800 +20C d) 600 +20T
81. VAo ufdar § X @ RRY &Y ... @ A1 95 el 9§ TRA fbar S 21

3) 1500+20°C ~§) 1000 +20°C ¥) 800 +20°C <) 600 +20°C

82. Preheating time with LPG in ordinary AT Welding is........ minutes

a)4t04.5 b)2t02.5 c)5to6 d)7to8
82. HIERYT T&Y AfeeT & vordioh & |y NERT &1 999 ... fome 21
3) 4945 §) 2925 W) 596 T)798

83. Preheating Time with compressed air & petrol in ordinary ATW is..................

a) 2 to 2.5 min. b) 4 to 4.5 min ¢) S min d) none of these.
83. WTIRYT Teresy # HAfed &ar 3R Ugiel & W1 WEIfST &1 |97 ... 2 |

3) 2 ¥ 25 e 9) 4 9 45 fiFe ¥ 5 e | T) 39 A B T8
84. Rail end to be welded should not have any bolt/bond hole within ............ mm in case of AT

welding

a) 30 b) 40 c) 50 d) 60

g4, T AfeeT B A ¥ doe fHY T qW W AR W ... il & R P e /e BT
T8 g ARy |

3) 30 ) 40 W) 50. T) 60
| — are used for doing alignment in ATW welding

a) fish bolt b) chisels ¢) wooden wedges d) MS Liner
85. v &1 ST GEIeey] AfeeT H Targaie dxA & oY fhar Sirem & |

3)) fper dree g) vl W) dHE B ool €) TH T SR
86. Pressure during preheating by compressed Air & Petrol shall be ................

a) 2 10 2.5 kg/em® b) 0.2 t0 0.3 kg/em®  ¢) 2 to 3 kg/em® d) 4 to 4.5 kg/em®
g6, Wifed arg &R Ugie gRT MEfET & SR <@ ... BT |

&) 2 9 2.5 fom /i’ ) 0.2 W 0.3 fasur /J°

¥) 2 9 3 feur /@ q) 4 W 45 four /A



87. Pressure during preheating by oxygen is ..........

a) 7 to 8 kg/em? b) 4 to § kg/em? ¢)4to4.5 kg/cm2 d) 0.2 to 0.3 kg/cm?
87. AT ERT U8R | A FA B &R M .......... e g |
) 7 A 8 fpur /A ) 4 9 5 feur /a8’
W) 4 ¥ 45 fur /A 3) 02 A 03 fHur /H
88. Finished vertical tolerances on 1 meter straight edge at the centre on surface of head shall be__
a) + 0.4 mm b) + 0.5 mm c)+0.2 d)+0.3
88. R A Welg W B & 1 Mex W AR W gt SEafeR FETeerd ...... grft |
J) +0.4 mm d) +0.5mm |) +0.2 g) +0.3
89. Weld collar painting to be done once in ................ years in corrosion prone area.
a) 4 b) 3 c)2 d) 1
89. WEIRYT HaqUT & H o< &fow Ufe .......... ast ¥ Y& IR @ S ARy |
3) 4 q) 3 ) 2 2) 1

90. The purpose of lubrication of Rail JOINts..........ceoeevverrererrecrene

a) To identify cracks b) for expansion & contraction of rail ends
¢) to reduce wear on fishing planes d) All the above

90. ¥ WISl & WEd & SgeH ...
37) RRI P YEAH BRAT 9) ¥ @ RRY & fawar 3R Hgza & forg

¥) 98l Udhsd @ Al R B & 9 HAa1 ) SWRIGad 9l

91. Rail cutting machine starts with ...........

a) Water b) Petrol ¢) Diesel d) Kerosene oil
91. X Bl B T ..o Jgs e g |

31) 9 9) Ugre |) Srote 7) fiedt &1 aa
92. Rail cutting machine cuts with ...........

a) Water b) Petrol c) Diesel d) Kerosene oil
92. X BT 7l ... q Fedt T |

3) ari . 9) ug ) S ?) fedl &1 da
93. Abrasive rail cutter start & cuts with ...........

a) Water b) Petrol ¢) Diesel d) Kerosene oil
93. AqEYH Vel HeX URH 3R FT ... GRSCIRT

&) wr a) g W) ot ?) fredt @1 =

94. Gauge and cross level measured with help of ............

a) steel scale b) Gauge cum level  ¢) Thermometer d) Steel tape
94, 11 IR B9 odA I ... % HERIAT | AT S @ |

) W Wl g) 9 W8 W H) e 3) W 2



95. In steel channel sleeper of bridges ............ no of hook bolts are required

a) 1 b) 2 ¢)3 d) 4
95. Jol & WA A7 W ¥ ... g% dee & aavamar dar &
) 1 q) 2 @) 3 2) 4

96. Joggled fish plate is provided at ..............

a) fish plate joints b) welding joints
¢) Glued joints d) CMS crossing joints
96. WifTes fher Wie.................. W IUTRT HUA A B |
¥) frer e e 3) AT e
W) fus gy os 7) WoAge BT e
97.  Lifting of concrete sleeper track shall not be done more than ......... mm in one stage
a) 25 b) 40 c) 50 d)75
97. BT TR G B [ W A .......... ey & orfires TEf o W Wl 2
) 25 q) 40 H) 50 q) 75

98. Oiling & Greasing of SEJ shall be done once in @ .........ccceuueee

' a) fortnight b) month c) week d) two months
98. THES & JffaferT 3R MR ... # U% R B Sreft |
S)RCEIS ) FET W) gaE ) a1 7
99.  Lubrication of fish plate joints shall be done preferably in month of ...............
a) October & November b) April & May
¢) June & July d) December & January
99. % wie Wl & Fed ARHAT: ......... A8 # faar S |
3f) JTaTER 3R TR q) 3 3R 7S
H) 9 AR JeIrs ) fewR iR S
(S NN T —————
a) Through Turnout Renewal b) Through Rail Renewal
¢) Through Turnover Rail Renewal d) Through Sleeper Renewal
100. EIERR HT ATAT T v
37) g Tamse Reyeret q) o v Regarer
W) 9 TR el Regaret T) 9 iR R=gera
101. What is the Official Language of the Union of India ?
a) Devanagari script b) English ¢) Urdu d) None of these
101. WRA |G P TS FT & ?
&) T a) sieh W T TN P

102. When was the Official Languages Act 1963 passed ?

a) 10.06.1963 b) 10.05.1963 c) 11.02.1963 d) 11.06.1963
102, rorHTyT AT 1963 Ha TIRe gam ?

3) 10.06.1963 q) 10.05.1963 W) 11.02.1963 T) 11.06.1963



103. When is ‘Hindi Day’ celebrated every year ?

a) 14 September b) 19 Septemb 14 b
0. B ET "R R mp;T;nT ;r? c) 24 September d) 14 September
d) 26 Ryawr 3) 19 R ) 24 Ry 7) 14 famaR
104. Wl?at is the Official Language of Arunachal Pradesh ?
a) Hindi &English b) Hindi c) Urdu d) English
104, IO JQT Y IIOTHINT 7T & ?
¥) R=Y wdh q) R w) 9%, ) afuoht
105. From when did the Section 3(3) of Official Languages Act take effect?
a) 26 January 1965 b) 30 January 1965
¢) 24 September 1966 d) 26 September 1968
105. XTSTATST AfIFTH, & 4RT 3(3) 4 & Yg< &S © 7
3) 26 AN 1965 q) 30 SIaN! 1965
H) 24 =R 1966 ) 26 fyawR 1968

106. Who is the Chairman of Central Hindi Committee ?
a) Chief Minister b) Prime Minister c) President

106. BT =) afAfY & arger dH 8 ?
&) A q) SETEA W) vy @) ¥ ¥ BE T

107. How many Articles are there in Part XVII of the Constitution ?

d) None of these

a) 10 b) 4 )9 d) 20
107. T @ 91T Xvil & fha sgwE € ?

3 | q) IR g 3) 9
108. Who was the First Chairman of the Official Language Commission ?

a) Sri B. G. Khare b) Sri Mohan Das

c) SriR. G. Patil d) Sri Rajendra Prasad
108. TSTATST TART & WA 3ieael I 9 7

&) & o W ) &t Ag" I

H) 2 R, S, rfea T) i o= TS

109. Which Article comes under Part-VI ?
a) Article 214 b) Article 210 c) Article 215 d) Article 216

109. WTT — VI ¥ P T DT & ?
3) gET 214 g) 31T 210 q) IIIT 215 T) AT 216

110. How many members are there in the Parliamentary Committee on Official Language ?
a) 30 b) 40 c) 50 d) 60

110, XTI P FEd Ay & fea wew € 7
3) 30 q) 40 W) 50 T) 60
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